Jd2|A L|E, DIN 3404 #219]

=5 4Y/HIE o[0ix|

=l oF = AH|QIBA AR 1.4305.

EM OlF2]:
ﬁEE'I: ol'?j =
AE|OIZ/A AEL 2R Rz

EY 24 LIES 2EN 5271 52 7207 (120 He 2
P | B e

Pl
02
12
o
1]
FO
rlo rok
o
ik
Il
g'l_-
g'l_-
rC
[

]
~
T
-~
Zs g9
DIN 3404 #Z{2| EEMH J2|ALIE
FEHS 24 x& D D1 L L1 SwW
K1135.11006100 ESH| Méx1 10 13,5 5,5 11
K1135.11008100 ESH M8x1 10 13,5 5,5 11
K1135.11010100 AE M10x1 10 13,5 55 11
K1135.11018 ESH| G1/8 10 15 6 11
K1135.11606100 ESH M6X1 16 17 6 17
K1135.11608100 AEl M8X1 16 17 7 17
K1135.11608125 AE M8X1,25 16 17 6 17
K1135.11610100 ESH M10X1 16 17 6 17
K1135.11610150 AEl M10X1,5 16 17 6 17
K1135.11612150 AE M12x1,5 16 17 6 17
K1135.11616150 ESS M16x1,5 16 18 7 17
K1135.11618 AE G1/8 16 17 6 17
K1135.11614 ESH G1/4 16 17 6 17
K1135.21606100 AHQIBA AR M6X1 16 17 6,6 17
K1135.21608100 AE|QlEA A M8X1 16 17 7 17
K1135.21608125 AHQIBA AR M8x1,25 16 17 6 17
K1135.21610100 AHQIEA AE M10x1 16 17 6 17
K1135.21610150 AE|QlEA A M10x1,5 16 17 6 17
K1135.21612150 AHQIBA AR M12x1,5 16 17 6 17
K1135.21618 AE|QlEA AR G1/8 16 17 6 17
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



J2|A LIE, DIN 3404 11Zi9| Ea4d

= 29

FEHS =4 x & D D1 L L1 SW

K1135.21614 AH[QlEA A& G1/4 16 17 6 17
K1135.12216150 AE M16x1,5 22 22 8 22
K1135.12214 A& G1/4 22 22 8 22

K1135.12238 AEl G3/8 22 22 8 22
K1135.22216150 AHQIBA AR M16x1,5 22 22 8 22
K1135.22214 AHQIPA AE G1/4 22 21,5 8 22

K1135.22238 AEQIE|A AE G3/8 22 23,5 8 22

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



